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e H H B 1 AE B HUN O/ HLEN B BEE— AN PHiEY = S ON S
kB - - 6H8H 6H8H 6H8H 6H8H 6H16H 6H16H 6H16H 6H16H -
KR - C 22.5 21.5 21.6 22.5 20.0 22.0 21.5 22.5 22.5

1|7 v F E vk ) z D b A 0w 0.02BL°F mg/1 <€0.002 <€0.002 <0.002 <€0.002 <€0.002 €0.002 <€0.002 €0.002 <0.002

2 | 5 v i [0 z » k& = L7 0.002LLF mg/1 0.0002 <€0.0002 <€0.0002 <€0.0002 <€0.0002 <€0.0002 <0.0002 <€0.0002 0.0002

3 |= v v v % [6) z » it & 7] 0.02LLF mg/1 <€0.002 <€0.002 <0.002 <€0.002 <€0.002 €0.002 <€0.002 €0.002 <0.002

4 1 , 2 - v s = = ES % v 0.004LLF mg/1 <0.0004 <€0.0004 <€0.0004 <€0.0004 <€0.0004 <0.0004 <0.0004 <€0.0004 <0.0004

5 |r z - v 0.4LLF mg/1 <€0.04 <€0.04 <€0.04 €0.04 <€0.04 €0.04 <€0.04 €0.04 <0.04

6 [ # » ®m v (2 - = F A ~ F ¥ L ) 0.08LLF mg/1 <€0.008 <€0.008 <0.008 <€0.008 <€0.008 <0.008 <€0.008 <0.008 <0.008

7l 7 = = 7 + k = k ) L 0.01LLF mg/1 <€0.001 0.001 <€0.001 <€0.001 <€0.001 <€0.001 <0.001 <€0.001 0.001

8 |f K 7 o 5 — 2 0.02BL°F mg/1 <€0.002 0.003 <€0.002 €0.002 <€0.002 €0.002 <0.002 <€0.002 0.003

9 P& f” H # IAF mg/1 0.53 0.62 0.5 0.48 0.36 0.42 0.54 0.54 0.6

0 B v v v oA < *ovoowoon (O ) 10~100LL F mg/1 95 49 69 68 82 72 69 69 49 95

1|+ v 7 v )4 [6) z D b & L7 0.01LLF mg/1 <€0.001 <€0.001 <€0.001 €0.001 <€0.001 0.003 <0.001 <€0.001 0.003

12 [ HE 73 [iZd 20LLF mg/1 5 3 4 4 5 3 3 3 5

13, 1, S N 2 = T - - N S 0.3L4F mg/1 <€0.03 <€0.03 <0.03 <€0.03 <€0.03 <€0.03 <€0.03 <€0.03 <0.03

M |» F L~ - t - 7 F A = — F I (MIBB 0.02BL°F mg/1 <€0.002 <€0.002 <0.002 <€0.002 <€0.002 €0.002 <€0.002 €0.002 <0.002

15 |F B L7} £ ( KMnO4 ) LU mg/1 1.1 1.5 1 1.6 0.7 1 1.1 1.3 1.6

16 |5 B L E ( TON ) LU B <1 <1 <1 <1 <1 <1 <1 <1 <1

17 | b 7% # | 30~200LLF mg/1 300 122 152 184 166 157 175 169 122 ‘ 300

18 [#& B 1IAF i3 <€0.1 €0.1 <€0.1 €0.1 <€0.1 €0.1 <0.1 <0.1 <0.1

19 |p H i 75885 mg/1 7.9 7.1 7.7 7.7 7.6 7.5 7.7 7.8 7.1 ‘ 7.9

20 | i 3 ( 7 v Ve U 7 & % )| -VREEELL B B0 | me/l 0.0 -1.9 -0.7 -0.7 -0.7 -0.9 -0.6 -0.4 -1.9

21 |1E )= ES # it B H%EE2000LL T 1 /ml 13 3 11 7 10 3 89 160 160

22 |1 , 1 - D V o = ES ¥ v v 0.1LLF mg/1 <€0.01 <€0.01 <0.01 <€0.01 <€0.01 €0.01 <€0.01 €0.01 <0.01

2B 7 2~ I = v A kK " = o { & W 0.1LLF mg/1 <0.01 <€0.01 <0.01 €0.01 <€0.01 €0.01 <€0.01 €0.01 <0.01

24 |RATNFaE B AR (PROS) e OV 7 VA a7 2 g (PFOA) | &ofkLc0.000058F | mg/l | <0.000005 | <0.000005 | <0.000005 | <0.000005 | <0.000005 | <0.000005 | <0.000005 | <0.000005 <0.000005
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